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	*-1
	*-2
	*-3

	C1
	C1-1
	C1-2

	C2
	C2-1
	C2-2

	C3
	C3-1
	C3-2

	DD1.A
	DD1.-1
	DD1.-2
	DD1.-3
	DD1.-4
	DD1.-8

	DD1.B
	DD1.-4
	DD1.-5
	DD1.-6
	DD1.-7
	DD1.-8
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	R1-1
	R1-2

	R2
	R2-1
	R2-2

	R3
	R3-1
	R3-2

	R4
	R4-1
	R4-2

	R нагрузка
	R нагрузка-1
	R нагрузка-2

	R усиление
	R усиление-1
	R усиление-2

	VT1
	VT1-1
	VT1-2
	VT1-3


	Nets
	GND
	Pins
	C3-1


	Net*_1
	Pins
	*-1
	R нагрузка-1
	VT1-2


	Net*_2
	Pins
	*-2
	C1-2
	C2-2
	DD1.-7


	Net*_3
	Pins
	*-3
	R1-2
	VT1-1


	NetC1_1
	Pins
	C1-1
	R1-1
	R2-2


	NetC2_1
	Pins
	C2-1
	DD1.-6
	R2-1


	NetC3_2
	Pins
	C3-2
	R3-2

	Ports
	NetC3_2


	NetDD1._1
	Pins
	DD1.-1
	R3-1
	R усиление-2


	NetDD1._2
	Pins
	DD1.-2
	R нагрузка-2
	R усиление-1


	NetDD1._3
	Pins
	DD1.-3
	DD1.-5

	Ports
	NetDD1._3


	NetDD1._4
	Pins
	DD1.-4
	DD1.-4


	NetDD1._8
	Pins
	DD1.-8
	DD1.-8


	NetR4_1
	Pins
	R4-1
	VT1-3


	VCC
	Pins
	R4-2



	Ports
	Опорное напряжение
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